Name:

Kilometers and Meters

Class:

1.2 km =

0.12km =

1.07 km =

25km =

2.05km =

8 km 250 m

6 km 330 m

4km 40m

10 km 900 m

ISkm 10m

24km 30m

Fill in the correct numbers.
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3,200 m =

1,090 m =

10,800 m =

20,900 m =

220m =

9.8 km =

6.33 km =

4.08 km =

251 km =

15.01 km =

23.2km =
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Answers

Fill in the correct numbers.

1.2km =| 1,200 | m 3200m = | 3.2 | km
0.12km = | 120 m 1,090 m = | 1.09 | km
1.07km = | 1,070 | m 10,800 m = | 10.8 | km
25km =| 2,500 | m 20900 m = | 209 | km
205km = | 2,050 | m 220m = | 0.22 | km
8§km250m = | 825 | km 98km = | 9 [ km | 800

6km330m = | 633 | km 6.33km = | 6 | km | 330

4km 40m = | 4.04 | km 408km = | 4 | km | 80
10km900m = | 109 | km 251km = | 2 | km | 510
I5km 10m = | 15.01 | km 1501 km = |15 | km | 10
24km 30m = |24.03 | km 232km = |23 | km | 200
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